QuizIV General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 10/10F 9:30amform A quiz#

Name }Cﬂ,\, Name
(print name) / (sign name)
Please show all work for full-eredit and to get pasti it. R=0.08206 L atm/ mol K) Na= 6.022 x 10

|
1. H’youtake 138 phis-of aCl and tnmakeup a 0.500 L solution, what is the molarity
# molefitepts of—{(3 g W 143 E g NaCl/mol NaCl ) (3.5 pts) ]
: & @ *72”\ _

(R L S =041

. the following precipitation reactienait - —m ar Squaton, T nTTe blanks to write
complete ionic equation (4 pts, 2 pts each) o Fyq' l. u

Molecular equation Nag COz  (ag) + MgBn (aq) = 2NaBr (aq) + Mg COa(s)

Completelomcreaman. G\C’ p+s f/% LOLwc-ﬁ 7 (/Aw
LNA () + COs* o) + Mg (aq) + 2Br-' (ag) > 2Na” +)Br (aq) +&64( Oz

3. Circle all of the following which are Et_rgg_g_aﬁi_qg_ You may circle one, all or none of the choices. (2.5
N
HNO?) HF @ CH;COOH
b@aﬂ ﬂﬂ €

4, Stoichiometry: In the following reaction if I have 1.25 moles of the Fé, whatis the theoreticalAield of
the Fe;Os (FW Fe;03 =  159.70 g Fe203/ mol Fe203 )(show work) (5 pts)
4Fe(s) + 302(g) =2 2FesOs(

2 R o

gtate of the fOIJOM%t(:Zs;u/W work) (4 ms, pts number, 1 pt show work)

L”‘@“ Hewcos Q_““;;

C A+ ¥ ft

—— e

Extra Credit: (4 pts) Set up the following by filling in the blanks (you may use a ? or the Ietter symbol (P,V,
n or T) for an unknown variable.  Plug into the equation to complete this question. You do not need to come

up with the final correct answer but units need to be correct . ( Kelvin = °C + 273.15, 1 atm = 760 torr = 760 _
mm Hg) Use the Combined Gas Law to answer the following. (P, Va2 Y ®EV)=T2/T

If agas occupies 3.5 Liters at 1.2 atm & 25.0°C, what is the pressure of thegasaxlSLitersat’ISI“C'?

p= Llokm v,=3,80  1,-2504 B- 1 .- Ay
(2 pts, 1/3 pt each) 29548
2 pts writing out the equation with all vm{ab!es plugged into the equation. (on back if you

%;w s G (551 as)(’/,z)(;;,




Quiz IV General Chemi

Name k@k
(print nam f( (sign name)
fgr ful

Please show all work it and to get partial credit.

1. If you take 72.5
{M = # mole/liter) of the

N2.,5 /(!
C.0l125 L { d,
2. Forthe follovéijn? pggcl;%tﬁmn reacncm9 4( molecular equation, fill in the bla

the complete ionic equation (4 pts, 2 pts each) (G

Molecular equation: 3 Ca (NOs): (aq) +2 NasPOs(aq) 2 6NaNOs(ag) + Cas (POs)a (s)

ion. (Show wopk.) (FW Na Cl

Complete ionic reaction:

—_—

3Ca? + (| dﬂ; (ag) +6 Na*' . JPO«* (ag) > Lo /C’ﬁ.f- (aq) +;NOs(ag) + Cas (POs)z (5)

3.Circle all of the following which are weak acid. You may circle one, all or none of the choices. (2.5 pts,

% pt each)
HNOs @ HCI - 2S04 bad df&»ﬂ 4 —

4. Stoichiometry: 1In the following reaction ifT start with 7.33 moles of the Hz, how many s of the
HCI will T generate (FW HCl = 36.46 g HCI / mol HC! ) (show work) (5 pts
H(g)+ Ch(g) > 2HCI (g) QHrget™ L

1,3 msles _%b4gHL s34 sty

o =
il %{@ s 9

5. Give the oxidation state of the following atom. (4 pts, 1 msnumber 1 pt Show work) S&é{;@
Ca_Z) E{W 1h M OSE&  PinPOSS 2 f+§(— o~ ‘i
3 babske TCW*’\ F~F =% — p= pd=

Extra Credit: (4 pts) Set up the following by filling in the blanks (you may use a 7 or the word unlmown or
the letter symbol (P,V, n or T) for an unknown variable.  Plug into the equation to complete this question
with correct units. Use the Ideal Gas Law to answer the following. [PV =nR T, R=0.08206 (Liter
Atm) / (Mol K)] (Kelvin =°C +273.15, 1 atm= 760 torr = 760 mm Hg)

For 1.2 moles of a gas at 300 Kelvin at 770 torr, how much volume does the gas occupy?

P—MV‘ ’? HLP( T=_ 3(}@& ( 2 pts, % pt each)
Lo < [
2 pz: ?vntmg ou/ihe equation with a{ vaoﬁables plugged in. (complete on back if run out of s

V = (.2 me?)(0.0P20¢
2)(0 OPCLOQJC%)ﬂg) fzoj . ZQLJ(}&D[C




Quiz IV General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 10/10F 10:30am form A quiz#

Name { C@g - Name
(print name) Z (sign name)

Please show all work for creditﬂdtoget : lit. R=0. a =6.022x 102

R
1. IfIdilute a 200°mL 0.25 §1 solutio ¥ addin mL @
solution, what js the concentration of the H'NQ3? M1Vi= } ¢ W B )

(Gr Loyt 028/ 2 71

L My = Ca..zm)mg = 0.4
2 For the following precipitation reaction written as the fol equetion/fill in the blanks to writ
the net ionic equation (4 pts, 2 pts each)

Molecular equation:  Pb (NOs); (aq) + Na2SO0s(aq) = 2 Na NOs (agq) + Pb S04 (s)

-l
Net ionic equation: - Pb% (a) + __ D 0 (ag) > Fhs Og )

3. Circle all of the following which are strong bases. You may circle one, all or
ng a_&

(2.5 pts, ¥ pt each) @ N (B, o

4. Smichiomeny: In the following reaction, how many moles of H;0 wi

grams of the CH:OH ? (FW CH30H = 32.05 £ CH30H / mol CH;OH ) (show work) (Spt
2 CH:0H (1) + 3 0108y = 2 €02 (g)+ 4 Ha0 B
H}O“—K( , )

2056, 43 Oif-

5. Give the oxidation state of the following afom.
oxidation state. (4 pts, 1 pts number, 1 pt show work)

CainCaCl,__+ (D sinsos?_ 1

¢ ém%,xm s +%(2) = —
Extra it: (4 pts) Set up the following by filling in the blanks (you may use a ? or the letter symbeol
(P,V, n or T) for an unknown variable. Plug into the equation to complete this question. You do not need

to come up with the final corremanswerbut.{l(elvin=°0+273.15, 1 atm = 760
torr = 760 mm Hg) i answer the following. (P2 V2 )/ (P1 Vi) =Ty / T,
+21%15=2 40% <

If a gas measures (35.0° -T'atm, for a 1.5 Liter samples, what volume does the RS
1.1atm? m
Py = “10){"\\’1= /¢9g Tl:l@[{i P, = _A_m\\?g: 7 Tz= (2
pts, 1/3 pt each) (275—) = PP

| 3

2 pts writing out the equation with all variables

imér_.he equation.(on back if you run out of s ace)

(/
M v, _,zé’i /. 9@).2
= hGRERI




Quiz IV General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 10/10F 10:30am formB quiz#

Name Name

(print name) [#4 (sign name)
Please show all work for di rtial cred%
I; If 1 dilute a 50. . for’of Na N

solution, what is il i MV;)

M=0 (5" V=g
(0. 125m) ( $:0,0n) = mq,(z-s‘w’)

2. For the following precipitation reaction written as the molecular equation, fill in\the blanks to write

the net ionic equation (4 pts, 2 pts each)
m, = 002504

Molecular equation: ~ Balz(ag) + (NHi):S (aq) > 2NHsl(aq) + BaS(s)

s
Net ionic equation: ﬁﬂ,{- (ag) + S?(aq) > M(’)

3 Circle all of the following which are weak bases.. You may circle one, all or none of the choices.

(2.5 pts, ¥4 pt each)
NaOH KOH @Ha/sa(omz @

4. Stoichiometry: In the following reaction, how many AlCl wi e if I start with

80.2 f the Al 1 Al=26.98 1) (sho k) (5 o : 5
T T R s ctlongs 3
?O'Zﬁfé—i"d?c 2wl M = 217 '

8 269?; 2l U 20 ¢y

@ "o &

5, Give the oxidation state of the following atom. (4 pts 1 pts number, 1 pt show work)

N in NO: :{;Q{ M‘l“‘?-(-—?‘) =0 ImKI it ?-CF"'—'
W= g Qud 2D ory

Extra Credit: (4 pts) Set up the follnmng by ﬁlhng in blanks ou may use a 7 or the word unknown or
the letter symbol (P,V, n or T) for an unknown variable. ~ Plug into the equation to complete this question
with correct units.  Use the Ideal Gas Law to answer the following. [PV =nR T, R = 0.08206 (Liter
Atm) / (Mol K)] (Kelvin =°C +273.15, 1 atm = 760 torr = 760 mm Hg)

Fnrag,asatzg_z“(:andI.Zatmcomamedmaz.SLi:ercomainer howmanymoimofgasdnyouha;e"
02
P= /fl% V= Z,ng n= 7 =292+ a?;ff(zpts,‘.épt’mr

2 pts writing out the gquation with all ables lugged in. (complete on back if run out of SM

C/,zm (2.580) = () oomoe;_? 302,35)
(@2 “)}faom 06)( 302, 3551( Oz meles




Quiz IV General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/10F 9:30am form A quiz #

Name Name
(print name) (sigh name)
Please show all work for full credit and to get partial credit. R = 0.08206 L atm/ mol K) Na= 6.022 x 10%

1. If you take 13.8 grams of Na Cl and add water to make up a 0.500 L solution, what is the molarity (M =
# mole/liter) of the solution. (Show work.) (FW Na Cl= 58.44 g NaCl/mol NaCl ) (3.5 pts)

2, For the following precipitation reaction written as the molecular equation, fill in the blanks to write the
complete ionic equation (4 pts, 2 pts each)

Molecular equation Na;COs (aq) + MgBra(aq) -> 2NaBr(ag) + Mg COs(s)

Complete ionic reaction:

— (aq) + COs?(aq) + Mg'(ag) + 2Br”(aq) > 2Na'" + Br” (ag) + (s)

3. Circle all of the following which are strong acids. You may circle one, all or none of the choices. (2.5

pts, ¥z pt each)
HNO; HF HCI CH:COOH H.SO4

4, Stoichiometry: In the following reaction if I have 1.25 moles of the Fe, what is the theoretical yield of
the Fe203 (FW Fex03 =  159.70 g Fe203/ mol Fe203 )(show work) (5 pts)
4Fe(s) + 302(g) = 2Fex0:(s)

5. Give the oxidation state of the following atom. (show work) (4 pts, 1 pts number, pt show work)

I Cin COs2

Extra Credit: (4 pts) Set up the following by filling in the blanks (you may use a ? or the letter symbol (P,V,
n or T) for an unknown variable.  Plug into the equation to complete this question. You do not need to come
up with the final correct answer but units need to be correct . ( Kelvin = °C + 273. 15, 1 atm = 760 torr = 760
mm Hg) Use the Combined Gas Law to answer the following. (P2 V2 )/ (P Vi)=T2/ Ty

If a gas occupies 3.5 Liters at 1.2 atm & 25.0°C, what is the pressure of the gas at 1.5 Liters at 78.1 °C ?

Py = Vi= T = Py = Va= Tz =
(2 pts, 1/3 pt each)
2 pts writing out the equation with all variables plugged into the equation. {on back if you run out of space)




Quiz IV General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/10F 9:30am form B quiz #

Name Name
(print name}) (sigh name)
Please show all work for full credit and to get partial credit. R = 0.08206 L atm/ mol K) Na=6.022 x 10%

1. If you take 72.5 grams of Na Cl and add water to make up a 0.0125 L solution, what is the molarity
(M = # mole/liter) of the solution. (Show work) (FW Na Cl= 58.44 g NaCl/mol NaCl ) (3.5 pts)

2. For the following precipitation reaction written as the molecular equation, fill in the blanks to write
the complete ionic equation (4 pts, 2 pts each)

Molecular equation: 3 Ca(NO:): (aq) +2 NazPO4(aq) > 6 NaNOs(aq) + Cas (PO4)2(5)
Complete ionic reaction:
3Ca? + (ag) +6 Na™ . POs*(ag) = (aq) + NOs(aq) + Cas (PO4):2 (s)
3.Circle all of the following which are weak acid. You may circle one, all or none of the choices. (2.5 pts,
4 pt each)

HNOs HF HClI CHi:COOH H2S804
4. Stoichiometry: In the following reaction if I start with 7.33 moles of the Hz, how many grams of the

HCI will T generate (FW HCl = 36.46 g HCl / mol HC1 ) (show work) (5 pts)
Ha(g)+ Cla(g) = 2HCl(g)

5. Give the oxidation state of the following atom. (4 pts, 1 pts number, 1 pt show work)

Ca Pin 1)()4“3

Extra Credit: (4 pts) Set up the following by filling in the blanks (you may use a ? or the word unknown or
the letter symbol (P,V, n or T) for an unknown variable.  Plug into the equation to complete this question
with correct units. Use the Ideal Gas Law to answer the following. [P V=nR T, R=0.08206 (Liter
Atm)/ (Mol K})] (Kelvin =°C + 273,15, 1 atm = 760 torr = 760 mm Hg)

For 1.2 moles of a gas at 300 Kelvin at 770 torr, how much volume does the gas occupy?

P= V= n= T= { 2 pts, ¥ pt each)

2 pts writing out the equation with all variables plugged in. {complete on back if run out of space)



Quiz IV General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/10F 10:30am form A quiz #

Name Name
(print name) (sign name)
Please show all work for full credit and to get partial credit. R =0.08206 L atm/ mol K) Na= 6.022 x 10%

L. If T dilute a 200 mL 0.25 M solution of H NOs by adding enough water to make up a 350 mL
solution, what is the concentration of the H NOs? (M;V = MzV3) (show work) (3.5 pts)

2. For the following precipitation reaction written as the molecular equation, filt in the blanks to write
the net ionic equation (4 pts, 2 pts each)

Molecular equation:  Pb (NOs)z (aq) + NazSOs(aq) => 2NaNOj; (aq) + Pb SO4 (s)
Net ionic equation: - Pb*? (aq) + {ag) = (s)
3. Circle all of the following which are strong bases. You may circle one, all or none of the choices.

(2.5 pts, Y2 pt each)
NaOH KOH NH; Ba(OH)y NH.OH

4. Stoichiometry: 1In the following reaction, how many moles of H20 will I generate if I start with 73.2
grams of the CH;OH ? (FW CH30H = 32.05 g CH30H / mol CH3OH ) (show work) (5 pts)
ZCH:OH (1) + 302(g) 2 2C0O:2(g) + 4H0(g)

5. Give the oxidation state of the following atom. Either show work or explain where you got the
oxidation state. (4 pts, 1 pts number, 1 pt show work)

Ca in CaCly S in SOs?

Extra Credit: (4 pts) Set up the following by filling in the blanks (you may use a ? or the letter symbol
(P,V, n or T) for an unknown variable.  Plug into the equation to complete this question. You do not need
to come up with the final correct answer but units need to be correct . ( Kelvin =°C + 273.15, 1 atm = 760
torr = 760 mm Hg) Use the Combined Gas Law to answer the following. (P2 V2 )}/ (P1 V) =T2/Th

If a gas measures 35.0°C at 1.1 atm, for a 1.5 Liter samples, what volume does the gas occupy at 17.3 °C and
1.1 atm ?

Py = Vi= = P2 = Vo= Tz= 2
pts, 1/3 pt each)

2 pts writing out the equation with all variables plugged into the equation.(on back if you run out of space)



QuizIV General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/10F 10:30am form B quiz #

Name Name
(print name) (sign name)
Please show all work for full credit and to get partial credit. R =0.08206 L atm/ mol K) Na=6.022 x 10%

1. If I dilute a 50.0 mL 0.125 M solution of Na NO; by adding enough water to make up a 250 mL
solution, what is the concentration of the Na NO3? (MiV:=M2V3) (show work) (3.5 pts)

2. For the following precipitation reaction written as the molecular equation, fill in the blanks to write
the net ionic equation (4 pts, 2 pts each)

Molecular equation:  Balz(aq) + (NHu)28 (ag) = 2NHsI(aq) + BaS(s)
Net ionic equation: (aq) + S%(aq) > (s)
3 .Circle all of the following which are weak bases. You may circle one, all or none of the choices.
(2.5 pts, 2 pt each)
NaOH KOH NH: Ba(OH) NH.OH
4. Stoichiometry: In the following reaction, how many moles of AICl; will I generate if I start with

80.2 grams of the Al (molar mass Al = 26.98 g/mol) (show work) (5 pts)
2Al (s) + 3Ch(g) 2 2AICh(s)

5. Give the oxidation state of the following atom. (4 pts, I pts number, 1 pt show work)

Nin NO: Iin KI

Extra Credit: (4 pts) Set up the following by filling in the blanks {you may use a ? or the word unknown or
the letter symbol (P,V, n or T) for an unknown variable.  Plug into the equation to complete this question
with correct units. Use the Ideal Gas Law to answer the following. [P V=nR T, R=0.08206 (Liter
Atm) / (Mol K)] (Kelvin =°C + 273.15, 1 atm = 760 torr = 760 mm Hg)

For a gas at 292 °C and 1.2 atm contained in a 2.5 Liter container, how many moles of gas do you have ?

P- V= n= T= ( 2 pts, ¥ pt each)

2 pts writing out the equation with all variables plugged in. (complete on back if run out of space)



